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QUESTION 1

Refer to the exhibit. 
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UCS-1 fails to connect to the storage array. Which action resolves the issue? 

A. Set the FI-A mode to FC End Host mode. 

B. Enable N9K-1 mode to N-Port ID Virtualization. 

C. Configure N-Port ID Virtualization on FI-A. 

D. Implement N-Port Mirtualization on N9K-1. 

Correct Answer: B 

 

 

QUESTION 2

A server administrator attempts to change the Cisco IMC KVM certificate to one signed by a private CA, but the
certificate is not being accepted. What can cause this process to fail? 

A. using a certificate with a password-protected private key 

B. RSA encryption being used in the generation of the certificate. 

C. AES encryption being used in the generation of the certificate. 

D. public IP addres of the Cisco IMC not being included in the SAN. 

Correct Answer: A 

 

QUESTION 3

An upgrade of protected RPMs from the Bash shell does not take effect. Which action resolves this issue? 

A. Restart the Bash shell. 

B. Reload the switch. 

C. Upgrade the RPMs from the Guest shell. 

D. Disable and re enable the Bash feature. 

Correct Answer: D 

 

 

QUESTION 4

Refer to the exhibit. 
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VSAN traffic is not routed as expected. Which action should be taken to resolve the issue? 

A. Reset the error packet counter 

B. Configure the hello timer to match the neighbor 

C. Configure the FSPF dead interval with a value higher than 80 seconds 

D. Reset the inactivity timer on switch-2 

Correct Answer: B 

Reference:
https://www.cisco.com/en/US/docs/switches/datacenter/nexus5500/sw/troubleshooting/guide/n5500_ts_sans.html 

 

QUESTION 5

Refer to the exhibit. 
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The OTV adjacency fails to come up. Which set of commands on each switch resolves the issue? 

A. otv extend-vlan 5 otv site-vlan 5 

B. otv extend-vlan 5 no otv site-vlan 5-10,11 

C. otv extend-vlan 5 no otv extend-vlan 11 

D. no otv site-vlan 5,10-11 otv site-vlan 5 

Correct Answer: D 
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